FEK#h R (BdKth4) HE AR 2—(NHT)

5527 ﬂiﬁ H i‘fﬁ %i%fﬁ SH4EAR268 | SH4ESASIB | HF4E6H21 B | FFN4E7H268 | HF4E8H8H | SH4ESA30B | $F14410A258 | $F4E11 A158 | $H4E11A298 | SH5E1 A248 | SF5FE28 148 | £F55E28288

EKEZ = E) 10:35 9:55 10:18 9:55 10:25 9:42 9:50 9:55 9:50 9:25 9:45 9:50

KB °C =18 17.0 20.7 222 24.8 26.5 26.8 215 19.8 18.7 11.3 11.0 11.3

— i E 18/ml 100 0 0 0 0 0 0 0 0 0 0 0 0

N — |mHEnmnce PN T TR T TR T TR TR TR TR T TR

BEUVZDIEEY mg/L|  0.01 <0.001 <0.001 <0.001 <0.001

ANEOOLIEEY  [me/L]  0.02 <0.001 <0.001 <0.001 <0.001

T AEMAXVRE | Al oo <0.001 <0.001 <0.001 <0.001

e me/L 0.6 0.05 0.06 <0.05 <0.05

SO0 meg/L|  0.02 <0.002 <0.002 <0.002 <0.002

sonfkiLL meg/L|  0.06 0.021 0.027 0.020 0.010

CHOOEEE mg/L|  0.03 0.003 0.005 0.005 0.008

oJOE/O00A2>  |me/L 0.1 0.003 0.003 0.002 0.002

REER mg/L|  0.01 <0.001 <0.001 <0.001 <0.001

NUIN=EL D meg/L 0.1 0.034 0.041 0.030 0.017

M) AHOOEEES mg/L|  0.03 0.015 0.014 0.016 0.009

JOEo/O0A4> |mg/L|  0.03 0.010 0.011 0.008 0.005
KJOEHRILL meg/L|  0.09 <0.001 <0.001 <0.001 <0.001
BIRILLTILTER meg/L|  0.08 0.005 0.005 0.003 0.002
FHEIRBRUVZDIEESY [me/L 1 <0.004 <0.004 <0.004 <0.004
4@17':’%"%—'7/"&”%0) me/l| 02 0.024 0.028 0.019 0.011

HEVZDIEEY meg/L 0.3 <0.01 <0.01 <0.01 <0.01

BHRUVZDIEEY mg/L 1 0.004 0.004 0.003 0.002

RUAVRUVEDIES Y| me/L|  0.05 0.001 <0.001 <0.001 <0.001

Bl A4 mg/L 200 9 10 11 10 10 9 8 8 8 9 9 9

AREZREY mg/L 500 97 99 78 67

DIARIY ng/L 10 2 1 2 1 1 1 1 1

2-AF ILAIRILFA—)L [ng/L 10 <1 A A A A A 4 A

ﬁg)%c)%a()%? EEs meg/L 3 0.8 0.8 0.9 0.7 0.9 0.9 0.8 0.8 0.8 0.8 0.7 0.7

pHIE — | 58~86 7.4 7.4 7.3 7.3 7.3 7.3 7.4 7.4 7.4 7.4 7.5 7.4

R — [Bgonunce| EBEgal| BEEggl| BEEgL] BE4L| BREA4L| BER4L] 2Eial] EEal] mwal] ®Bxal| Bgal| BEwal

BER — [Bgonunce| BEgal| BEggl| BEEgl] Beggl| BRE4gL| BERalL] 2Eial] =mEal] mEal] =mxal| Bgal| BEwal

BE E 5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5

AE E 2 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1

vooo7tb=kJJL [mg/L| 0.01

|AKkIOZ—)L mg/L|  0.02
& TR BIER mg/L| 01Kl E 0.6 0.4 0.4 0.5 0.5 0.5 0.5 05 0.6 0.6 0.7 0.6
e SHE B ot meg/L 20 6 6 5 4
BIR X 5EE(TON) — 3 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1
e o . . —I*ETE‘_.‘J{:‘&

BERMEGUTITER)| — pslgﬁgnouhﬁ -1.3 -1.3 -1.4 -1.4

i)

REXEHE fB/m| 2000 3 1 2 5
%T)I/jJUF;_ mg/L — 41 42 36 35
Q@Eﬁ{ﬁﬁﬁ 1S/om — 121 121 137 127 129 126 91 109 110 110 110 108
ﬁﬁmwrbAﬁ-y meg/L — 16 16 14 14

LNRBRIEE260) | — — 0.010 0.009 0.011 0.009 0.011 0.012 0.011 0.011 0.011 0.010 0.009 0.008




